My name is:

LRE kg 1LARE [/ Kq \9€ b5IE 1 kg 154€ \99€ 7 kg
Match the pairs:

A kilo of potatoes is two ninety eight

A kilo of bananas is one nineteen

A carton of eggs is two fourty eight

A box of milk is six fifty nine

A kilo of strawberries is two fifty four

A kilo of tomatoes is one ninety nine

At the restaurant

1, 40€

Answer the question:

How much is the hamburger? The hamburger is 7,98.

.................................................................................................

How much is the chicken? The chicken is

.................................................................................................

How much is the pizza?

How much is a cup of coffee?

How much is a glass of lemonade?

How much is a piece of cake?

...........................................................................................

How much is a cup of coffee with a piece of cake?



